F1L—RADFHFE13F

mERAND-EERBRE R

r= 2019468188 (L)

£6R

SREER 26 §R

o PARIERES - =xers (B-B)

1R .8.1.4.2.5 800 m 3R .2.1.5.4.3 800 m
R = |z £ i Pl | & i
£ 5 miE m = |8 F| % 14 L |AHEN|FARE | BHES| K & 23 Mg | | m = |8 F| % 4 L |AHEN| BARE|BHES| K &
R e = R =8 =
FIaRER 2 ¥5 TUHARIUR FITE— 2 45 YIRIT4TSR N
1[LEY y5| - | B — 54| BNl | 50.6|tA%| 398 e A e I 7" 1s4| ma | 51.1|@ebiz| 456 GEEH
BEHIT—L 4t ¥5 VLY TOAIR A—rETHIE o ¥5 YXFII7
LR 2 | g |5 B#ALISSEYHR o, DRIEER 2 | g |95 TAKT—LLF—
2|1—7z37 yo| S| B T s sks| 516\ RER| 446 norEsgary (95| | B2 isa| @3 |  510[m&R| 402
B | &[5 TORLZRSY Ltk f| B |5 LAERT(—
wIREE 2 | g [¥5 R—=HK HEES 2 | g P> B—FILRIL
3|yl %5 -y 54| # 3| EHIE| 452 IVRLRFUY (45 >y 54| A1 A#&E4<E| 510
o . P ey ey mH 50.3| &k v 552\77_1_\ 7|t | 2 5 soramoL7y =15 52 1|1&E<E
i 2 | g |#5 FLSAN—F AT 2 | & o5 Sovd LRk
4|725—% 5| | B =22 s4|E+m|  51.3|#E| 462 UrLzzTU— |93 5 | B —— 54| /I 52.1| =zmit| 376
@ ER H 3 TIVDRIY RIS |2 |¥> YLVIIT)—
EZHR 2 | g 7 AMPavR—5— =RBE 2 | g |r5 R—HNE
5(54Fva=n—R |45 e 54| /N A|/NEEE| 488 O—XLAPYd |45 - 54( Al D| KIS 428
o HIT7—L 7 | E [vs 20U7LER ’ 53.1 ! //m:ﬁ;‘fa 7 4| B 5 mA<vH/— 91.5| KNI
6
7
8
2R .1.4.5.2.3 800 m 4R .1.3.2.4 800 m
gl E | 2 £ i Pl | £
ES 5 mmig m " = |8 F| % 14 L |SAHEN|BHRE |BREE| B & 5 mig| i #® = |8 F| % 4 L || BRE(BHER| F B
. | & 2 . | & 2
X AEHR 2 45 ATIRSA R 2 ¥5 HTIRSA
1|7HY% ¥ % “/ _7_ 54| A FH 50.4| B#kIE| 460 HRALA—T— Y5 § / 7__ 54 |H L& 51.2|Z1LF| 484
—RBT7—L4 | T |v5 JTLTIAH ETr— L | E v E¥a—3z30
HEMR 2 ¥5 FHYIITRA BEYTLYRT7—L 2 45 O—SRAUAA
- = % ~ L, N = % == =
2 |azxs H 54| & J|EAH| 420 AREH LAY | Y 54 5 8| HFE| 488
somz| || ® [ Loaa— = o171 cogiotoron| | 4t| E [ waEmro s@ | S18 EwE
ik lE e 2| = |¥v5 Aoh—H BEER 2 £ 45 FA4—TTYST
3=z y5| o | E ——— 54| /NG 54.1| zmt| 396 nNr—ont |93 S| B e 54| @3 51.5|EHA| 472
BE S | =2 /8- NEBEE A0S fo| £ |77 ATLRNTAA
- Z 35t o | F s aqoamgk—s— EEED 2 45 Ry HI—)LK
a|7oRETY 45| - | B T 7 sal | 509|mEX| 404 2nahi—7y |95 | Bl 54| a3 | 52.9|wmA| 410
| 4t £ |¥> FTILET Sy bul e 4t 45 UvILT4F—>a
HEB— 2 | g |# TANLNITHY—
5 |*4Fv—FE—L |45| . | BE—— 54| R | 51.4|E38| 456 0
Frchagi5 e ¥5 LykT7E—L
6
7
8
MBS AL 2K 5709 KEET. TEEE IS
— &5 HBHESE 40058 1.05.0 : 400BLLT 1.06.0 2005 L F 1.07.0 80/ LT 1.08.0 RHER 1.09.0
3mEHE BHES 20058 1.06.0 : 2005/LLT 1.07.0 x B F 1.08.0 RHER 1.09.0




mERAND-EERBRE R

r= 2019468188 (L)

£6R

SREER 26 §R

. ecx MRIRES - xers (B-BR)

5R ..3.4.2.1 1,000 m
S P S S i S PR = S .
23 B | s m % = |8 F| 5 1 L |FKE|BRE | BEHE| B B & 5 £ L I m = |8 F| 5 1 L |FKE | BRE|BEEE| B B
R R
\‘#QI‘VEE(E) |3 Flvs 4527048 —
VIBAT A 2 — 54 A 1.04.8| KJIIF| 468 250 1
555 BRI ol = 9500 7E—L
. el 3 5 Do T IRk
vafi—LALTs (45| |EEZTF T s pask | 1.04.6| mEE| 456 0 2
Kb %t ¥5 KJ—L/N—)L
METR 3| g |7 FATATY—
T IvIoR > oy 56 |::|z ) A H ;.E_ 520 250 3
+H;7rrb/_£77_A 43| | £ [ awraoix RES | 1.03.3|EHiE
RBYY 3 #5 O—I 412
F7T)L))— ¥ i it 54 |#E8¢| 1.03.8|Z1LUZ%| 450 0 4
SSI5TT— 1L L' ¥5 RITTILAEY—
5
6
7
8
6eR L. 1.2.3 1,000 m
S PR = £ i RE L= | = £ i
23 £ L I m % = |8 F| 5 1 L |FKE|BERE | BEHE| B B % 53 £ T I m % = |8 F| 5 1 L |FKE | BRE|BEHE| B B
R R
. _RAE 3 ¥5 A Lik—L
NYIMFEOT4 | YT ﬁ — 56| &I 1.03.6|/MEE| 494 250 1
e a ¥s ST—E)
) o1L 3 45 FoohAA/O0—
IARIVAIINH |95 E -t —1{ 56| &iF 1.03.7|B#iE| 492 250 2
WA IS "Tl'i 3 /\_I"j)l/)(DT’f
os o) 8 2 TERANATY |l 1047\ mums| a2 | 250 3
/ N3 . . =]
KEFE IS 7 #| B |5 oF/¥95
4
5
6
7
8
HIB S A L 2®E 57.0% XBE EEBS WIS
—ikE HTEHES 40058 1.05.0 4005 L F 1.06.0 200 L F 1.07.0 80K LLT 1.08.0 RXHFEE 1.09.0
I3mEHE H‘HEES 2005#E 1.06.0 2005 LLF 1.07.0 FF 1.08.0 KHEE 1.09.0




